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1. ®FIEZT (Vocabulary and Grammar) (15%)
(1) HZHM: BB EAR . S KRB AN S 1 LR .
(2) HERZIER: RAZWELR BRI EE 4 MR, ZoRFEEM 4 METHE B — N REER,
315 188
(3) FRZER: B (S5 PREE B IEEZCE RW) HE KRR BON R AT, BEIEHA .
HGrhiz FF A 1) 3000 MZOIRNE: T RERT IR SOE R AR . EEIFRR RS (R SRR R
TNV FEEBCE RN FEM — B WIOEENE: ERIEARMTERENN, FEEEARW TR T4, Rk



GrMiz FETE Jon) A5 R AR AE .
(4) Mo E: G &1 5y, 415 8, At 15 4.
2. [REPfE (Reading Comprehension) (20%)
(1D FEZHK: HEE LR 3G
(2) FEA: KRHZEWEEA . ATEH RS, BRAAER MR B MR, T
Y B RUOR R RS BRI R, AR AR P B AT — i 1 R AN HE 1S BRERAE AN S
AT, WREERE BRI IC R
(3) BAZEK: RefE A BRI en B SO A 2 IR b, DO IR I I £ — MR S 2RI RS 2.
(4) Mo E: G &2 55, 4510 B, ARGt 20 4.
3. ¥V (Translation from English into Chinese) (20%)
(D FZHK: HEEEEFMREE.
(2) FEA: RHAEWEER . DOFFONE PRI, 355 DT
(3)  FAZER: FEIEYID SRR AR AR TG, GRS T SR A R SIS R
REH IERRPOERIE, HSLEE, IBFEIR. .
(4) BRI E: . f@4 5, 58, REILT 20 57,
4. W% (Translation from Chinese into English) (20%)
(D FEZHK: BEELEDOFRBBIEE.
(2> FEEA: KHEWERR, DGR EFRIE, 355 M1
(3)  FHIZER: FERYIPDOER R ARAE T, RE#ET h XA TR . BRI 4 i3
REH IEMI SR, LR, EFEM. WYy, TEIKEERIR.
(4) BRKE: FWE. B4 7, 5@, AREILT 20 7.
5. fE3C (Writing) (25%)
(1) EZBEW: HZEEHFGERLS BN
(2) FEEA: RAEWEEN . AEOar S, B AR ra i RHE RER AT 51E, FH87E
180-200 [«
(3) FEIZER: RIS MIESCE H . BRI SRS, B —i K EETE 180-200 ™ 5] F1E 3,
REMR BN MG, 7o, 4hikse®e. BT @M. FREE S, RikBaE.
(4) A RoE: FWE. fE30, 3618, ABEL 25 7).

Iv. 2%4HH
CHrt 4 B E B AR SE T AR RV B S A FFEY (1-2 1) (5B 2 fR), fIJRBE £, igsMEZ
B R4, 2013 4.

V. AR B
Part I. Vocabulary and Grammar. (1’ X15=15" )
There are fifteen sentences in this section. Beneath each sentence there are four words,
phrases or statements marked A, B, C, and D. Choose one word, phrase or statement that best

completes the sentence.



1. One learns a language by making mistakes and _ them.

A. corrects B. correct C. to correct D. correcting

Part II. Reading Comprehension. (2’ X 10=20" )

In this section there are four passages followed by questions or unfinished statements, each
with four suggested answers marked A, B, C and D. Choose the one that you think is the best answer.

Text A

Questions 16 to 20 are based on the following passage

Protests at the use of animals in research have taken a new and fearful character in Britain
with the attempted murder of two British scientists by the terrorist technique of the pre—planted
car—bomb.

The research community will rightly be alarmed at these developments, which have two objectives:
to arouse public attention and to frighten people working in_research with animals. The first
need is that everything should be done to identify those responsible for the crimes and to put
them on trail. The Defence Research Society has taken the practical step of offering a reward
of 10,000 pounds for information leading to those responsible, but past experience is not
encouraging. People are unlikely to be tempted by such offers. The professional police will
similarly be confronted by the usual problem of finding a needle in a haystack.

That is why the intellectual (#1iR4%>F) community in Britain and elsewhere must act more
vigorously in its own defence. There are several steps that can be taken, of which the chief one
is to demand of all the organizations that exist with the declared objectives of safeguarding
the interests of animals that they should declare clearly where they stand on violence towards
people. And it will not be enough for the chairmen and chairwomen of these organizations to utter
placatory (ZFLH]) statements on behalf of all their members. These people should also undertake
that it will be a test of continuing membership in their organizations that members and would
be members should declare that they will take no part in acts of violence against human beings
Even such undertakings would not be fully effective: people, after all, can lie. But at least
they would distinguish the organizations entitled to a continuing voice in the dialogue with the
research community about the rights of animals in research from the organizations that deserve
no say.

16. The words “these developments” (Para. 2, Line 1) most probably refer to

A) the acts of violence against scientists

B) the use of animals in research

C) the techniques of planting bombs in cars

D) the establishment of new animal protection organization

17. Which of the following is TRUE according to the passage?

A) The police abandoned their efforts to find the criminals

B) The terrorists escaped with the help of their organizations

C) The attempted murder caused grave anxiety among British scientists



D) People sympathized murder caused grave anxiety among British scientists.

18. The author’ s purpose in writing his article is to demand that animal-protecting

organizations .

A) declare their objectives clearly
B) give up the use of violence
C) continue the dialogue with the scientific community

D) help to find those responsible for the attempted murder

19. In the author’ s opinion
A) since people can lie, the problem about their rights of scientists can’ t be solved

B) animal-protecting organizations about be held responsible for acts of violence against

scientists

26.

C) animal protection organizations should be declared illegal

D) the scientists should take effective measures to protect themselves
20. What does the word “they” (Para. 3, Line 3) refer to?

A) The animal-protecting organizations

B) The organizations that will talk with the research community.

C) Those who support the use of animals in research.

D) Those who support the animal-protection organizations.

Part III. English-to—Chinese Translation. (4’ X5=20" )

When I was ten, I was suddenly confronted with the anguish of moving from the only home.

Part IV. Chinese—to—English Translation. (4’ X5=20" )
31. BESRAERS & /N SI5T, FRATINZ o0 v e, B 3 7R X Ay 2115t . (punctuality)

Part V. Writing. (25" X1=25" )

For this part you are allowed 30 minutes to write a short essay. You should write 180-200

words based on the topic below.

Topic: Should the university campus be open to tourists?

You are to write in three parts.

In the first part, state specifically what your opinion is

In the second part, provide one or two reasons to support your opinion.

In the last part, bring what you have written to a natural conclusion or make a summary
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1. BAYEFERE (Multiple Choice Questions—Choose Only One Correct Answer) (20%)
(1) EEK: HHELEREREE K WIE, 8. BUa. #E LA SCHIRIGE
(2) EBHR: RHZWEIENR. AR, N 4 DEmik i — M REER.
(3) HZER: W (S5 PREEE T IEHCA RN BER, S @ A NAT B8 i FnRTH
— 58 B MV RV MBS B SO A 72 R R, AR S A 2 A o i [ X R IR R B R
(4) BBIKASHE: EHEE. G825, L1038, KRBT 20 5.
2. HIWTIE IR (True or False) (20%)
(1) FErx BRI 127 A s [ S AR 2 B AT e
(2) FEBFA: RAZWEER. HIEEZEN T (True) 8 F (False) RIT] .
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(3) EBBER.: AR A IR IGE E MU ARG B, e R R IE 1R

(4) BRIRME: FIWE. &1 70, %208, ALt 20 7).

3. A& (Please answer the following question either in English or in Chinese. No less than
100 words or Characters) (60%)

(1) EZER: ZZEEIEHIGEEZB AR ARG ), B ERMANE. SRZartigE.

(2) EZJE: KHIEWEEA. SE-EXNBUR. BEH. SUFSEMIRERESE, AERRE
FHRIR, E BRI YRR ), SPGEIEE B ], REE RA DT — E A HAE B

(3) EAZER: FEFEAIGEE KA, S —m @ n] IRk, s fABaHE, Rasiatt.
HEAE, BRI B 4ERT ] .

(4) BRRSHME: T, It 3,

22}

&

20 7. 4L 60 7.

N.2%4HH
FEREZFZMHSSSTUANTT GEZRO ) B, Rk ErslFE 9w, S50 E HRE, 2011 5.

V. BRI BI
1. Multiple Choice Questions———Choose Only One Correct Answer. HAIEFZE, HiEF—1EH
BR. (27 X10=20" )
1). The most important river in Britain is

a. the Severn River b. the Thames River

c. the Mississippi River d. the Hudson River
2). , which falls on the last Monday in May, now honors the memory of all men who ever

fought in defense of the USA.
a. Memorial Day b. Independence Day
c. Valentine’ s Day d. Thanksgiving Day
2. True or False. (1”7 X20=20" )
1). “All men are created equal, ” says the Declaration of Independence. ( )
2). The goal to educate an entire national population of the United States has been fully
achieved ()
3. Please answer the following question either in English or in Chinese. No less than 100
words or Characters. TJPAFHZEINERE HXAEE, BEEADT—ENRFARNF. (37 X20=60" )
1). Discuss the present education system in the UK and the USA. i#%RRiA = [ F12E E FIH A 2
BIEREERN.
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L FRXNHE, Bik. FRNE 120 7080, w&#7 8 100 77 .

2. BB Section A: MEFEE, 5 60%; Section B: HHZM, i 20%; Section C: )AL
A, 7 20%.

3. BT [FRE D 2 IREE R I 43 B iy ARE 40%,  BERAE 30%, 12 30%.

4. WBHE G R S H LB B2 30%, TEELY S 50%, HELT L 20%.

=, AEBEHRER

1. ¥ (Section A) (60 43)

(1) ZEZBER: B LS REVEENR AR . 101280 5E F 45 77 TH 1 /¢

(2) FEBFA: RAZWEKIER. B IEFEE, N4 MERTFEE — N REESR, L 45 E/-.

(3) HBIZER: BRFAERIFGRIEFIZH (S5PRIGET I IGEBCE RN BE 10— 2 IR IE
ENE: BREREENN, FEREERK TG FE5M, IR HIZ F X 8 Ay 2 AR o

(4) BRESE: RE0LadE 2 DMK, 552 : 1) Choose the most appropriate choice from



the four choices given (45%); 2) Each of the following sentences has four underlined parts marked
A, B, C and D. Identify the part of the sentence that is incorrect (15%). 2 Kid: 45 N/,
1-30 B/ 1.5 43, 31-45 B/ 1 43, 360 43

2. IHZM (Section B) (20 43)

(1 EZER: HZHEEMWIREFRME i Hana e s, ma. B, EREpASET
BRI RE T -

(2) ERFBR: KHBEWEE . A NIEEGIE P $A

(3) ERRER: ZRFEARIEHMIAEMEZ EE. BRI EEEIASE AR, 45681k
FRIAE SR 58 B 1

(4) BREME: RESEFE 2 DA, 5)&: 1) Fill in each of the following blanks with
the appropriate forms of the given words (10%): 2) Fill in each of the following blanks with the
verb given in its proper form (10%). 2 KfI: 20 NN, B/ 1 4, 20 4.

3. A)BIEEHA  (Section C) (20 4)

(1) FEBEB: BixE AL H B R AR AT A B e 46 (1) e

(2) FEEFRA: RATWEE. BANERER S A7) 1.

(3) FEBEEXR: ZRFEEABREMOR (nFEMNA) KM BIUA . aIR55), FHRere & H) %Y E
BEAT 4

(4) BREE: AREo3L 1 KB, BiHRE: Rewrite each of the following sentences as required
(20%) o 10 /N, AR 2 7r, 3520 73

N

V. 2%+4H
CHromICiB i yL W R, HIRI LS, LIMEZE B, 2016 4.

V. BRI
Section A : Multiple Choice. (45’ +15° =60’ )
I. Choose the most appropriate choice from the four choices given. (30 x1.5” =45’ )
In this family members are sports lovers
the half B. half the C. their half D. half a

As a rule the workers are paid

S

by a piece B. by the piece C. by pieces D. by piece

(JL 30 /8, B 1.545r, B 4540

II. Each of the following sentences has four underlined parts marked A, B, C and D. Identify
the part of the sentence that is incorrect. (15 x1’ =15’ )

1. The reason why so many people have given up smoking is that
A B

scientific studies show that cigarette smoking cause cancer.

C D

2. Tom went to the doctor only to find that the room was full of



A B

people waiting their turn.

C D

(3L 15 /8, 817y, &5 1550
Section B: Fill in the blanks. (20x1’ =20’ )
I. Fill in each of the following blanks with the appropriate forms of the given words. (10x1’

=10" )

1. The police need a full in order to find the stolen car. (describe)
2. He is above us all, for he is to worldly success. (indifference)

(10 /8, #8175, &5 1050
II. Fill in each of the following blanks with the verb given in its proper form. (10x1’ =10")
1. After discussing the matter for an hour, the  committee adjourned without

(reach)any decision.

2. Do you feel like (go) for a stroll after supper?

(k10 @, &8 15y, B4 1040
Section C: Rewrite each of the following sentences as required. (10x2’ =20 )
1. You must take good care of the children. (B#kzhf])
2. Although he is a child, he knows a lot. (FH as {5 R X A))

(3L 10 8, 524, 2420 4)
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